G.S.C.E
Chapter Covered HEIGHT & DISTANCE

(25 Answers and Explanations)
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Let BA be the ladder and AC be the wall as shown above.
Then the distance of the foot of the ladder from the wall = BC

Given that BA = 10 m, ZBAC = 60°
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i.e., Distance of the bus from the foot of the tower = 138.4 m
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Distance between the two points A and C
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Distance between the two ships
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Consider the diagram shown above where QR represents the tree and PQ represents its

shadow

We have, QR =PQ
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From the right & CED,
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i.e., the distance travelled by the car in 10 seconds = =
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Let RQ be the pole and PQ be the shadow
Given that RQ = 18 m and PQ = 6/3 m

Let the angle of elevation, ZRPQ = 6
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Consider the diagram shown above where PR represents the ladder and RQ represents the
wall.
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Required speed
Distance

Time
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= 7.3 meter/seconds

=10(1.73 - 1)

18
=7.3x% T km/hr = 26.28 km/hr
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‘We know that, AB = (AC - BC)
=> 40 = (AC- BC)
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i.e, the distance travelled by the balloon = 1504/3 mu
time taken = 2 min = 2 x 60 = 120 seconds
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= 1.25 x 1.73 = 2.16 meter/second
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From the right & EDC,
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From the right & AFC,
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